DIvISION WITH A REMAINDER II (H - SET 1)

DIVISION WITH 1 TO 10 Hame
Time: Score: y—
121) 8328 — 2 = 136) 13197 -2 =
122) 6862 = 7 = 137) 12284 =2 =
123) 6378 = 2 = 138) 44208 -9 =
124 14367 + 4 = 1394036 + 3 =
125) 10993 = 4 = 110) - 43466 = 10 =
126) 53378 + 8 = w3215+ 1=
127 1837 = 3 = 112) 650069 = 10 =
128) 17246 + 2 = 186509 + 5 =
129) 69715 = 10 = 1) 71370 = 10 =
130) 62264 =— 7 = 145) 12282 + 5 =
131) 25628 = 3 = 16) 29277 =8 =
132) 37505 = & = 11 40691 =7 =
133) 25924 + 4 = 1s) 34073 + 10 =
131 62922 + 9 = 1o 1041 +2 =
135) 6451 = 3 = 150) 23499 - 9 =
Mathematics: Division - Level § - Horizontal - Set 1 6 culu
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